Common Quarterly Examination — 2019

Standard -9
English Paper — |
Part — |
Synonyms
1) c)through and careful 2) a) lively 3) ¢) listen

Antonyms

4) b)confident 5) d)improper

7) 1 can’t hear your voice.
9) a)does not

6) d) rested

8) review
b) they have

10) i) irregular ii)farmer

11) embark / any relevant answer
12) b) disabled

13) b) agree with

14) c) Therukoothu

15)

16)

17)

18)

19)
20)
21)
22)
23)

24)
25)

26)
27)
28)

Part 11

Since he had only one set of clothes he washed them twice a day before
going practice.
Achrekar would place a one-rupee coin on the top of the stumps. Nearly 60
to 70 players would bowl. Sachin had to hit every ball If he survived
without becoming out, he would win the coin. That was the intense
fifteen minutes mentioned here.
The narrator’s grandmother said these lines. According to her if a shadow
falls on the house, the family who lives in the house will receive God’s
blessing. It is a superstitious belief.
Any’s mother took dick to the dentist. He could visit Mr. Benet on her way
to home.

Section- B
a) The poet is the speaker.
b) The poet has never stopped in a strange place
a) The woods are lovely, dark and deep.
b) “I” refers to the poet.
a) The anger of the poet came to an end by telling his wrath.
b) Anger.
a) It takes much time to kill a tree.
b) To poke roughly or quickly with the knife.

Section - ¢
Any relevant answer.
Ramya is the tallest girl in the class
i) 1 will stop playing the drum when you go to sleep

Independent clause dependent clause/ adverb clause.
ii) If you work hard you will pass.
Dependent/conditional clause independent/main clause

i) a) in spite of ii) b) on behalf of
i) studying ii) to survive
Margie looked up, “Not yet Mamma.”

Part — 111

Qn. 29 — 32 Answer in paragraph

33)

34)

35)

36)

37)

38)

39)
40)
41)
42)

43)

a) i) The poet was angry. ii) The poet was angry with his foe.
iii) He did not tell his anger to the foe.

b) i) Repetition, Anaphora ii) personification
The poet says that the tree has taken much time to grow on the Earth. It has
grown slowly consuming the earth so it is not possible to kill a tree simply
jabbing it with a knife. It won’t die.

i) flood — noun, ii) hard — adjective iii) organize — verb, iv) slowly —
adverb v) she — pronoun / subject

i) T agree with everything you’ve said.

ii) I believe in healing power of mother’s touch.

iii) We have been studying in this school for 5 years.

iv) | went to the book store.
V) The cat is on the wall

i) “I was looking at the house.

ii) “Was it yours?”

iii) They had gone to the club.

iv) He had played cricket for an hour.
v) | wanted to buy it.
to try — non finite
Trying — non finite

Having tried — non finite
Try — finite
Tried — finite

in, with, to, on, of

i) noun ii) direct object iii) subject complement iv) adjective
an, a, a, the, the.

i) D — since two hours

ii)C-an

iii) C- into

iv) B- is playing
V) C- the cleverer girl

v) adverb

Part -1V
i) Tensing and Hillary were the first conquer Mt. Everest.
ii) 1953
iii) Darjeeling
iv) To develop interest in mountain-climbing among Indians.

44) a/b Please refer the text book
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